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one of the twWo machines N or

paﬂy has 2
. e industrial component P. Each of the

ufactufe its U
to produce same quality of component P

xcept for the fact
turets. The spemﬁc

that they are being

ations for each

50,000 components of P

1,50, OOO and could generate a profit

onents produced.

1e of all the comp
produce same

qual capacity to
and all the

components
any difficulty-

Machine M and

components that are produced.

The selling pri
Y
ot B - |
3

r each machine.

Required
n sales in yalue for

() Calculate break eve
s where poth the

(i) Calculate sales levels in unit

Wby
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equally profitable.
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(b) PQR Ltd. manufa

following costs are incurred fo

Particulars

ctures a product in b

]

Direct Material Cost per Batch

Direct Labour Cost per Batch

Overhead Absorption Rate (variable)

r each batch :

Amount (in %)

2,40,000

1,65,000

120 per machine hour

Expected Rejection Rate 3%
Scrap Value per Rejected Unit 175
Other Information :
Particulars Details
Selling Pri.cc;. per Good UnitA 3250

Total Available Machine‘ Hours ﬁer month | 3,000 hours

Fixed Overheads per Month

% 1,25,000

Batches Manufactured per Month

10 batches

Required :

(i) Calculate contribution per unit of good units after adjusting

rejected units. q,‘\?("o\

- (ii) Calculate the company’s total monthly profit. ls‘<J,6<>
' | Yh

ALC2

atches of 2,000 units. The

P.T.O.
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Manufacturing concern has given the

unlﬂ“t
cod Acc { of a 1aw material X :
Th e N I
ing cmdS ‘
ollow! . um lead time and Maximu :
petwee” Mint um lead time is
piffere™
4 day’ are the Raw Material X i
4 time 1° proc ial X is 7 days.
Avcragc Led
1,80,000 units
Reordef Leve
ty - 90,000 units
Minimum tock Leve 1,00,000 units
Maximum gtock Leve 1,90,000 units
Required to Calculate :
Q) Maximum Consumptlon per day 'Sfo”’c ) ’ |
_ o2
(ii) Minimum Consumptlon per day c& “":ﬁ\
2
The following information relates 1o a manufacturing concérn A Ltd 9
for the year ended 315t March, 2024. o |
Particula :
Heulars Ason 1% April, | Ason 31% March,
2023 2024
Raw Material (i —
ial (in X) Y 3,40,000 1,80,000 0% X
gress (in %) 550,000 3.50,000

~ ALC2 N
€<(/ o
X /(/\&\



M o\’) (OS5
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<
\\ \ N _~ ALCZ
e m\/,,m@
© Tpe——
pC \9\0‘“ Particuly, (In %)
c\l\g D 3 [T -
v ’5"5’1 * Raw Materiall W Amount
A ?( 99 ot ':7 Inclusi 2.00.0b0
o (p o | INCTUSVE OF GST @189 (1neyy; gy
1,0 < , neligible for ITC)]
Packaging Co . .
FC gob”*/”7 St (primary) ) Fc e Add
“\3"0{0 Fee Paid to Ind ' o 3,00,000
c@) ndependent Dj
e oot foyy 5,00,000

BT Loy

10% of Wages paid

s 0> F ob charges paid to Job w ?w w - fac‘toq b

p orkers ® = pengy 41,000

v &0 ) Salary.paid to Supervisor Coyy 6,17,900
14 5 | Wages paid to factory workers 9 \,J,%“ .5’36,000

: / [ Salary paid to Production Control Managér ¢ - 7,20,060
0\/ / Sale of Scrap generated during Manﬁfacturing f;cwé‘&w | 50,000

| /;elling Overheads per unit S 9 BM@ 2

FSalary paid to General Manager L(ﬁgy\,g 12,40,000

-
Freight Inwards N

2%, on Raw Material

PurchaSed

ExpenSes Paid for Quality Control check

4,30,000

|

activities () C%Wm{)f@’” |

P.T.O.
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’E;;’ WDV as on T

price | 1% April, Dep reciaﬁon manw
- Ane
C‘Ost De:

Pnrtlmlﬂfs ® 2023 ) Rate

oy Building 2% ot
| Factory = ot
| ] e
| 6,000 -

?th and I\«iachmel}’ 15, i m

. ¢ Pri
— ] - —— | TTice

L’;’T(/ﬂ_'i"i’o“ 6000 | 10w
Office Butlaiis \

Additional information « | | -

; ation s charged on the written down value Methoq

(i) Depre | - .

i) Stock of finished goods as on 1%t April, 20.23 was 80,00 -

(it having a total cost of ? 8,00,000. The entire stock of Opening oS

finished goods is sold during the year, closing stock s 7 000 Ny
u:its During the period, 4,50,000 units were sold. - 0

(i) A Ltd. wants a profit of 20% on thal Sales. (&)@0\ %&9\9) H!oasbw

NE B oo ) Viiih
Required : . ‘ u

Prepare a Cost statement showing the various elements of cost ang | U oy

profit earned for the year ended 31 March, 2024, - | [/%

A skilled worker has assigned a work. The relevant data is given ag 5
follows :

Time rate per hour 325

Time allowed "9 hours

Time taken 6 hours

The worker has given an option to choose either Halsey (50% plarg/or
Rowan plan, ¥ £ \R7

You are required to calculate earnings under both plans and which Plan
is more beneficial for a worker,

ALC) W




)
ALC2

() A chemien) compouny heture
3‘

Process X ang Prog
generated by p

d many ¢
C8s Y,
rocesy N
received from p

Process Y, The details o

Costs ang
are given as tollows .

aterialg in
8 for each Procegs

Procegg X Process y
‘Dircct Materia]

other Particulyy

1,000 kgs @ T 50 per | 700 kgs @99 per kg
kg

% 35,000 | % 25,000
200 hrs @ % 60,7 120 hrs @3 80/hy
75% of inpur 80% of inpuy

. R \
Realizable valye of |¥§ per kg 4

Normal Losg

beginning and end of the period.

Required :

- 1 Loss Account
A Y Account, Norma
Account, Process
- Prepare Process X
and Abnormal Gain Account.

: P.T.O.
ALC2
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qufactures Lenin bed covers. The present cost data are

W o
s bele - manufacturing per unit : 2200

ing and distribution per unit - Z 100

\,ﬂrit ?
cixed COSES | | .
selling price PeF U0 +¥800
xpected Profit fOF the COMIRE YERL . :¥8,00,000
\o X .
QXZQ’A The management could sense a Stage of stagnation/deterioration in
7 \&‘ig future sales with the new entrant RK Entel‘prlses The SW limited has
N roached to 00€ marketing consulting firm for the study of cost

app
volume profit aﬂal}’SIS The firm suggested three alternatives to fuel
the sales growth by tinkering with the selling price.

Alternatives [ Reduce selling Projected increase in sales
price \% - (units) %
(from the sales level that would
generate ¥ 8,00,000 [;roﬁt) |
F 1 10.00 15
F ) 12.50 ol 20
F 3 15.00 | 25

Required :
Calculate the effect on profits under each alternative and recommend

which alternative is most likely to be adopted to get the maximum

profit. o :



(0)

(b)

- Assuming 15% profit on takings. D

-.passenger kilometer. The bus will run on an

LMN . Foods is a manufacturer of organic snacks For the
: year e

2023, the company compiled the following financial dat -

®)
ALC2
XYZ Transport is running a bug between 14
are 25 kms apart. The bus will make 4 rounde' A ang to
on an average 30 passengers on cach trip. The tripg Cve

bug
m of ¥ 5,00,000. It has been i 8 Cogt
su €en insured at 29, p 8t

tax will amount to ¥ 2,000 and the — er aAnnyy, anq mpanya
r

Annual repairs will be ¥ 8,000 angd the bus | ent js ¥ 500 pee annUa]
1S T

commission (to be shared by the driver and copgy. the takip

. . Nduct
stationery will be ¥ 800 per month. Manager-cyp, or ©quallyy. Cost o

-aCcOunta 0
l’lt’s Sal

is ¥ 35,000 per month. Petrol and Oil will be 7 e
-000
ber 100 k]’n

epreciation wj
straight line method. - WL be. Chargeqg at

You are required to calculate ‘the bus fare to b
€ ch

rged for per

average 25 days n
a

month.

nding

| Item Amount (in a
Opening inventory of raw materials 2,00,000
Closing inventory of raw materials 2.50,000
Raw material purchases . 12,00,000
Labour costs 5,00,000
P_roduction overheads 2,50,000
Marketing and distribution expenses 1,52,000

ALC2

P.T.O.
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In 2024, LMN Foods accepted a Tequest for a bulk, supply of their best-

selling snacks. The estimated cogtg g, fulfilling this order are ag.

follows :
e Estimated raw material cost . T 3,00,000

e [Estimated labour cost : ¥ 1,50,000
e Packaging and transportatjop Costs : ¥ 49 400

) Calculate the IOVfcrh‘ead‘recove

(i) Prepare a comprehensive cogt s

5. (a) Thefollowing information has beep provided by a company :

18 o

Number of units produced and sold : 7,000
Standard labour rafe per hour ~: ‘? 9
Actual hours worked : 17,820 hours

Labour efficiency : 106.8%

Labour rate variance : T 71,280 (A)

You are i‘equired to calculate :

(1) Actual labour rate per hour |

(i) Standard hours required for 7,000 units
(iii) Labour Efficiency variance |

(iv) Standard labour cost per unit

(V) Actual labour cost per unit

ALC2
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(b) Journalise the following transacty
i
scodipm i imegrmcd | NS assuming that cost and financial 4
Particulars . i A ¢
moun
f (in T) \
Wages paid (209, indirect) 2,00 OO(T\
Selling and Distribution Overheads incurred 50’0001
Deficiency found in Stock of Raw Material (Normal) 80,00q
Factory Overheads (Under Absorbed) 60,000 \

(¢) Define spoiled work and defective work and discuss the treatment of 143

defective work in the following circumstances :

Circumstances \ Treatment

Where a percentage of defective work is allowed in a

particular batch as it cannot be avoided.

Where the defect is due to bad workmanship.

Where defect is due to the Inspection Department

wrongly accepting incoming material of poor quality.

\.",

xplain the ste volv iliati t& 32

(a) Explain th ps invol ed in procedure for reconciliation of Cos 4

Financia i i es Wwhere
i jal accounts. Also explain the circumstanc

reconciliation statement can be avoided.

ALC2




